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cosh(x)
cot(x)
cotd(x)
coth(x)
csc(x)
cscd(x)
csch(x)
sec(x)
secd(x)
sech(x)
sin(x)
sind(x)
sinh(x)
tan(x)
tand(x)
tanh(x)
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>> 21=2+3%*1

21 =

2.0000 + 3.00001
>> 722=-5+]
22 =

-5.0000 + 1.00001
>> r=abs(z1)
r =
3.6056
>> a=angle(z2)
a-=

2.9442
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abs(z)
angle(z)
conj(z)
imag(z)
real(z)
isreal(z)

complex(a,b)
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format long
format short
format short e

format long e

S Do oy sled format rat
10
Ex.) JSinh(0.125) + cos(35°) » ¥ 25 + ( ; ) + [tanh 17] + log, 23 =?
Command Window, ~ 02 x;
> pglear -

a=
3.939508035586637

> vpaia,10]

ans =

3.952606093

>> Lorwmat long

> oa

a -
3.9994608098666637

> ypa(a, 11|

ans =

3.9996060087

>> diaspa)
3.9556046058466837

»>> display(a)

.=
3.85560405040866837

»» format rac
>> A

1015572539

>> a=agrt (2inh{0.12%) ) +co=d (35) +nthrooc{log(25), 6| +nchoo==k{10,]) *floor (tanh (17) | +(log {23} )/ 1og(7]
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> clear
>> fOrmar long

>> sTmsS X
>» f=inline('1+(81N(X}])"2',"'%")
T =

Inline function:
fix) = 1+(sin(x))" 2

>> £(0)
ans =
1
>» f|pi+aran(0.25))
ans =
1.058823529911765

>> ezplot(f)
>
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>> syms X Yy
>> f=in1ine('1+x*y-sin(x+2*y)-'-x.'.y.)

f =
Inline function:
f(x,y) = 1+x*y-sin(x+2*y)
>> a=f(pi,2)
a =

6.526382811871658
subs BY S AN EPIN

(Jea

>> syms a b xc
>> f=a*xA2+b*x+c

f =

a*xA2+b*x+c

>> m=subs(f,x,2)
m=

4*a+2*b+c
ot ek () e X iz 3 Y e YU St s

(Jta

>> syms a b x ¢
>> f=a*xA2+b*x+c

f =

a*xA2+b*x+c

>> k=subs(f,{x,a,b,c},.{2,-3,4,8})
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>> syms t Xy

>> f=(x+2)A3+4*y*t+y*x+t*x+4*y*(x+2);
>> gu{xA2-1)*(x-2)*(x-3);

>> collect(f,x)

v

v

ans =

XA3+6*XA2+(12+t+5%y ) *x+8+8*y+4*y*t

>> collect(g,x)

ans =
-6+XN4-5*xA3+5%xA2+5%x
>> e=xMN+4;

>> factor(e)

ans =

(XA2-2%x+2)*(x"2+2%x+2)

>> factor(g)
ans =

(x=1)*(x+1)*(x-2)*(x-3)
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>> h=cos(x+y);
>> expand(g)

ans =

-6 +XN4-5*XA3+5%xA2+5%x

>> expand(h)
ans =

cos(x)*cos(y)-sin(x)*sin(y)

>> expand(f)
ans =

XAZ+6*XA2+12%x+8+4*y* t+5%y* x+t*x+8*y
>> p=(cos(3*x)) 2+(sin(3*x))"2

p:

cos(3*x)A2+sin(3*x)"2

>> simplify(p)

ans =

1

> b=(1/x73+6/x72+12/x+8)7(1/3);
>> bl=simple(b);

>> b1

b1 =

(2*x+1)/x

>> b2=simplify(b);
>> b2



b2 =

((2*x+1)A3/xA3)A(1/3)

w1 e Factor ;o 45 oo X 1, Ficollect s o8 dasd & 5 gilaa

A5 sy osle Simplify ysimple ;eos yaas o aoexpand jeos us

2> Nz 2
2> n= ({1072 2+40%3+30)/ (2" 2+6%3+8)
>> pretryin)

>>

1—cosx

?
xz

Ex.) Llfpo
>> syms X
>> 1=limit((1-cos(x))/(x"2),x,0)

1l =
1/2
i, e ek

x4 2X + sin (x)
>> syms x a

pretty spws b sl

&P 230> Al

>> 1=limit((sqrt(a*x”2+2*x))/(2*x+sin(x)),x,+inf)

I =
1/2*ar(1/2)
Ex.) J‘l_i'r}:_[sin x}=?

>> syms X
>> 1=limit(floor(sin(x)),x,pi, 'left")




Ex.) xl_i.r;:*[sin x] =?
>> 1=limit(floor(sin(x)),x,pi, 'right")

l =

-1

Ex.) ii_r.r’lz[sin x] =?
>> 1=limit(floor(sin(x)),x,pi)

1 =

NaN
2L «Not a Number .NaN j b & 52 Cis

&P G bl

d
Ex.) = (x +tanx) =?

>> syms X
>> f=x+tan(x);
>> d=diff(f,x)

d =
2+tan(x)A2
4

d ?
Ex.) I (x +tanx) =?
>> syms X
>> f=x+tan(x);
>> d4=diff(f,x,4)
d4 =

16*(1+tan(x)"2)A2*tan(x)+8*tan(x)A3*(1+tan(x)"2)




LS A X==T .5 ek o 5 T sl it e ol 0 B

>> syms X
>> f=x+tan(x);

>> d4=diff(f,x.,4);
>> subs(d4,x,-7.5)

v v Vv

ans =

-4.318149972714537e+003

E 22—{' 3,2 2 2 N =7
Jc.)ay2 (x% + yix + z°xy*) =1
>> syms X y 2

>> f=yA3*xA2+yA2*x+ZA2*x*yA4;
>> d2=diff(f,y,2)

d2 =
B y*XA2+42%*x+12%ZA2%x*yA2

2

Ex.) oy
>> syms X y Z

>> f=yA3*xA2+yA2%x+2A2%x*y 4,
>> d=diff(diff(f,y),x)

(¥3x? + yix + z%xy*) =2

d =

E*yA2%*x+2%y+4*ZA2*yA3

Ex.) [ e™ cos(bx) dx =7

>> syms a b x
>> k=int(exp(a*x)*cos(b*x),x)

k=

oo JI S dwlone

a/(a”r2+b”2)*exp(a*x)*cos(b*x)+b/(ar2+b”2)*exp(a*x)*sin(b*x)



>> preceyik)

a exp(a x) cos(b x) b expla %x) sin(b x)

>>

ol J1 51 demlone
7.6

Ex.) J xe™ dx =?
-5

>> syms a X
>> k=int(x*exp(a*x),x,-5,7.6)

k =
1/5*%(5*exp(-5*a)+25*exp(-5*a)*a-
S5*exp(38/5*a)+38*exp(38/5*a)*a)/ar2
>> pretty(k)
5 exp(-5 a) + 25 exp(-5 a) a - 5 exp(38/5 a) + 38

exp(38/5 a) a
1/5 mmmmmmmm e m e

>> collect(k,a)
ans =

(5*exp(-5*a)+38/5*exp(38/5*a))/a+(exp(-5*a)-exp(38/5*a))/ar2

>> pretty(ans)

5 exp(-5 a) + 38/5 exp(38/5 a) exp(-5 a) - exp(38/5 a)

>>
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Ex.) I W dx =
0

>> syms X
>> h=int(1/(1+x72),x,0,+inf)

h =

1/2*pi

#E) f f(jid;;z

>> syms Xy
>> b=int(int(1/(x+y)"2,y,0,x),x,1,exp(4))
b =

1/2*10g(960500813064011)-22*10g(2)

>> vpa(b,3)
ans =

2.0
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1 2 -
Ex)A=| 4 5 =
-06 9 V2
>> A=[1 2 =3;4 5 pi:-0.6 9 sqrt(2)]
‘-
1.0000 2.0000 -3.0000
4.0000 5.0000 3.1416
-0. 6000 9.,0000 1.4142

>> A=[1,2,-3:4,5,p1:-0.6,9,3qrc (2)]

A=
1.0000 2.0000 -3.0000
4.0000 5.0000 3.1416
-0.6000 9.0000 1.4142

>> B={1 3 5:-1 2 4:0 1 -3)

B =
3 5
-1 2 4
) 1 -3
>> At=Aa'
dg: =
1.0000 4.,0000 -0.6000
2.0000 5.0000 9.0000
-3.0000 3.1416 1.4142

>> detA=det(A)
detA =

-153.2869

a;.:\i'_n‘ = jlspace J:)g)lfq&l?q{)l’;&

o2k odlgly
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ok (trace) it

oS g 2l TFACR ;s ) ol b 505 jolie o pmy o jle (TTACR) Sl s

>> trace(A)

ans =

7.414213562373095

>> h_invers=inv(X)

A _invers =

0.1383
D.0492
-D.2544
>> C=Ai+B
C =
2.0000
3.0000
-0.6000
>> D=A*B
D =
-1.0000
-1,0000
-9.6000
>> E=B"4
E =
-40

0

-8 -32

0.1946
0.0025
0.0665

5.0000
7.0000
10.0000

4.0000
25.1416
17.6142

-104
-168
176

-0.1388
0.0988
0.0196

2.0000
7.1416
-1.5858

22.0000
30.5752
28.7574

ok ek
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>> F=A+3.75*B

4.7500 13.2500 15.7500
0.2500 12.5000 18.1416
~-0.6000 12.7500 -9.8358

F § 5 ¢ (5B 19 Sl M
>> G=eye(4d)
G -
1 0 0 0
0 1 1] o
o 0 1 0
0 0 0 1
>> Gl=eyge(4,3)
Gl =
1 o (1]
0 > | o
0 0 1
0 0 o
>> Gl=eyge(4,5)
Gl =
1 0 0 0 0
0 1 0 0 0
0 ] 1 0 0
0 0 0 1 0




>> H=[1 2 -3 -4]:

>> K=diag(H)

K=
1 0
0 2
0 0
o u)
>> diag(K)
ans =
1
2
-3
-4
>> ans'
ans =

o oo

-4




>> L=ones(4)

L =

e e
e e
e
R e e

>> Lli=ones(4,6)

L1 =

e e e
e
e e
e
e i

Lo R

>> M=zercs(4,6)

oOo0oo0oo
0O00O0
oOo0ooo
oOo0oo0o
L= = = R = }
L= i e R }

el @ ie ol sl b ik oy
>> N=rand(4,6)

N =

0.8147 0.6324 0.9575 0.9572 0.4218 0.6557
0.9058 0.0975 0.9649 0.4854 0.9157 0.0357
D0.1270 0.2785 0.1576 0.8003 0.7922 0.8491
0.9134 0.5489 0.9706 0.1419 0.9595 0.9340

Jbyi @ig ol Sl ik gy
>> H=randn(4,6)

-0.4326 -1.1465 0.3273 -0.5883 1.0668 0.2944
-1.6656 1.1508 0.1746 2.1832 0.0593 -1.3362
0.1253 1.1892 -0.1867 -0.1364 -0.0856 0.7143
0.2877 -D.0376 0.7258 0.1139 -0.8323 1.6236



>> a=[1 2 3:4 5 6:7 8 9]

‘-
1 2
4 5
7 8

>> x=a(3,2)

>> al(2,3)=-9

..
1 2
4 S
7 8

>> a(4,3)=10

(= RS O
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>> a*10:0.3:14

Columns 1 chrough 8

10.0000 10.3000 10. 6000 10.9000 11.2000

Columns 9 through 14

12.4000 12 .7000 13.0000 13.3000 13.6000

>> a'

10.0000
10.3000
10.6000
10,9000
11.2000
11.5000
11.8000
12.1000
12.4000
12.7000
13.0000
13.3000
13.6000
13.9000

11.5000

13.9000

11.8000

12.1000




>> a={1 2 3;-4 -5 -6:7 8 9]

a-
1 2 3
-4 -5 -6
7 8 E

>> b=a(:,1)

>> b=a(:,2)

ans =

2 -5 8

>> c=a(3,:)

c =

7 B 9

>> d=a(l1:2,2:3)

o il i 9 Jlaw (53 Olles




1 2 3
-4 -5 -6
7 8 9

> a(2,:)=[4.5 5.5 6.5]
a-

1.0000 Z.0000
4.5000 S5.5000
7.0000 8.0000

>> size(a)
ans =
3 3
>> e=[12345 6],
>> length(e)

ans =

> a=[12 3;:4 5 6;7 8 9]

1 2 3
9 S 6
7 8 9

>> 2=sum(a)

12 15 18

3.0000
6.5000
9.0000

oy plecaalls

Sumng

.\;fh‘cc?')“.i;beJ,:,‘cU&:‘




>> a=(1 2 3 4]

>> b=repmat(a,z,3)

bh =

>> c={1 2 3:4 5 6)

c e

>> d=repmat(c,2,3)

d=

o e
mNo;oN
oW oW

)

o

[V T

o W oW

B e

(5,00 S R, B

oW W

repmat b

1 NS4 s e 03 S SIS Sl g sl

2 3 4
2 3 5
G daly b sle p adei

A5 o ddg paeNslas LD s ya g, 2L b, oK linspace(a, b, n) s

>> a=linspace(2,20,5)
as=

Z2.0000 6.5000
>> b=linspace (-2,3,8)
b =

-2.0000 -1.2857

11.0000

-0.5714

15.5000

0.1429

20.0000

0.8571

1.5714

2.2857 3.0000
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Ex.)A=[4 5 6
7 8 9

bl 53y Sl
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>> A=[1 2 3:4 S

A=
1 2
4 5
7 8

>> B={0.1 0.2 0.

B =
0.1000 0.
0.4000 0.
0.2000 -0.
>> A."2
ans =
1 4
16 25
49 64
>> A.*B
ans =

0.1000 0.
1.6000 3.
1.4000 =8

>> A./B

ans =

10.0000 10.
10.0000 7.
35.0000 -11.

=S s s Sas b
w5 ol 1 Sl " " ey T T Gl T g5 2 Slles 5

6:7 8 9]

()

3:0.4 0.7 0.9:0.2 -0.7 -20]

2000 0.3000
7000 0.2000
7000 -20.0000

9
38
81

4000 0.9000
5000 5.4000
6000 -180.0000

0000 10.0000
1429 6.6667
4286 -0.4500




>> A.”B

ans =
1.0000 1.1487 1.3904
1.7411 3.0852 5.0158
1.4758 0.2333 0.0000

3 1A e w5 535000 3 15 e Sl ol 5 g ey

>> mn=[1l 2 324 § 6:7 8 9};
>> f=inline('x."Z2+2*co3(x|','x")

::
Inline function:
£ix) = x."24+2%coa(x)
>> L&)
ans =
2.0806 3.18%7 7.0200
14.6927 25.5673 37.9203
50.5078 €3 .7050 79.1777

plOt:)’Zﬂél!b;ﬁﬁhé‘édg%ﬁ:ﬁé,hiﬂﬂ)

..\._S‘...-)—Z‘ITSX <2n (L‘“))')xjcu)bri(Jtﬁ

y = f(x) = x*cosx + sin’x
>> x=-2*pi:0.01:2%pi;

>> y=(x.A2).*cos(x)-(sin(x))."3;

>> plot(x,y)

“ \\ - . /.
0 \ /




2 LS 53C0S(X) 5SIN(X) Sl g0 peey (S
>> x=0:0.001:2%p1;
>> y1=sin(x);
>> y2=cos(Xx);
>> plot(x,y1,x,y2)

>>
>>
>>
>>
>>
>>

>>
>>
>>
>>
>>
>>
>>

x=0:0.001:2%pi;
y1=sin(x);
y2=cos(X),
plot(x,y1)
hold on
plot(x,y2)

x=0:0.001:2%pi;

yi=sin(x),

y2=cos(x);

plot(x,y1,x,y2)

set(gca, 'XTick',0:pi/2:2%pi)

B 4 E 2 ol pOIS e S ) S Sl

AT gyl

set(gca, 'XTickLabel' ,{'0", 'pi/2",'pi",'3pi/2","2pi"})

grid




>> x=0:0.001:2%pi;

>> ygil=sin(x):

3> y2=cos(x):

>» plotix,#1, ~',x,v2,'--")

>> legend('sin(x)','cos(x)")

>> sec(gea, ' XTick',0:pi/2:2%pi)

>> set(gca, 'XTickLabel',('0','pi/2','pi', '3pi/s2','2p1'))

PLOT b dmio 53 (fomia i ok s
25 e ey gl (e

Ex)(x=1)*+(y=-3)0*=2
>> t=0:0.001:2*pi;
>> x=1+2*cos(t);

>> y=3+2*sin(t),;

>> plot(x,y)

>> axis square




x=cos2t,y=sin2t,z=t,0<t<8nm
>> t=0:0.001:8%pi;

>> x=cos(2*t);
>> y=sin(2*t);
>> z=t;

>> plot3(x.,y,z)

>> reshape(a,6,2)

ans =
1 3
5 7
9 11
2 4
6 8
10 12

plot3 b Lad jo Jowie & el sl ey

reshape ;g

=



>> b=-2:2:24
h =
Columns 1 through 13

-2 0 2 4 6 8 10 12 14 16 18 20 22
Column 14

24

>> c=reshape(b,7,2)

-2 12
o} 14
2 16
4 18
6 20
8 22
10 24

wM-File

et M-File stla s Mo

;.wﬁl,:.,_.-'-s,;t,_.il-\

Gl Aol s s pi oY

IS A skl jeatizal -F

script M-File ,function M-File . ssM-File g

=S et iy o M-File sl 225 50y

MATLAB 7.6,0 (R20083)
Bl Edt Debug Parallel Deskiop Window Hel_)"

EI - —

Cpen. ., CtA+O Figure
Close Command Window Vor lable I
Maoz=
Import Daka. .
0 GUI >

Savm Winvkerws Ac

Ayt =3Current Directory satuM-File s

Help
Current: Dractory: | F4Program Fles\MATLAZ|R 2008akwork MohassbatSARFARAZ v )@




function M-File
o3 3ol |y o5 M=File o s y=F(x)=xcos(x?)/(1+x?) b s 4 L S 5

=S 1, F(3.5) Hms 0l das js ol IS X=3.5 33 @l e 035T s 4 51 5 S o

& tditor - F\WPragram Files WATLABIR2008s\woik\WohosehatSARFARAZY .
Fiz Edt Text Go Cel Tools Debug Desktop Window Hep

NEW +RBIC (a2 - Aesf b-0RARI
‘| -po e |+ x B0

1 -~ function v=f(X)

2 - y=x.%coa(%."2) ./ (14x.%3);

= end

4

Command Window
>> £(3.5)

0.0758

4..-l,.‘.J:.&:..'..»L...,.l-=~‘.=a|,z¢dl:.alp4,..s.:l,ula@,f,‘5:,,,;,,4'.’_-Gtc_i,‘;.-i;,(..

=S Sl ptes als
function [area prim]=triangle(a,b,c)
z=(a+b+c)/2;
area=sqrt(z*(z-a)*(z-b)*(z-c));
prim=2*z;
end

Command Window

>> [k 1]=triangle(3,.4,5)

k=

12




feval jgaws
R | ;)T Shagaays sl s cl: Saza 4-,-5“ M-File 23 ) 5ad Cﬂ' a)u':
(Je

B Editor - FiPromeans Files WA TL AB\R 20080 wentk Wiohuass hatSARF ARAZ W uin i

Fla Ect Text &0 Cel Toos m_&p_@_&g

NEE 29 - Aesf B -ADAN
B -e |+ 2t | x $KE 0

1 [ funcrion e=fun(x, 7|

z- =X, 2.T003 (K. YT} SN, 0P, "3
3= ‘end

e

>» feval('fun',Z,3.2)
ans -
69.508735675032785

Slnlo X wle dwlbre 81 p Ao S ske 31 o3l

X x<0
Ex.)g(x):sz 0<x<3
3 — 6x x =3

B fditor - F:WProgram Files\WATLABW 200 Bawwnrk\kofi

File Edt Text Go Cell Tools Debug Dasktop Window Hel
ael=] IFR L EEAC RN L LY
‘BB -l [+l [x]RX[0,

1 Jfunceion geg (%)

2= vi= (%) .*(x<0);

3 - Fe=(X.72) . F((R<3) = (x<0)) ;
4 - T3= (%, "3=6%%) . F(X>=3) ;

3 - v=yl+y2+73;

6 — “end




>> gl0)

ans =

0
>> gi(3)
ans =

9
>> gl2)
ana =

4

oS o Jop 1550 46 60 ol 3 Y=B(X) s gai oy 512

Command Window
>> ¥=0:0,0001:6.
>» y=gix):
>> plotix,y)
>
0
b /'.
w 'I
t-'ﬁ ./ 1
o ¢
@ //'
L /
/
E e
o5 ==t 0 3 3

script M-File
sc\I A5le g 385 oo edlimad kil o 1y ali n'.(l "y ol 2 ) (e e “S),TC.? sl M-File t’ ol
.:)‘:&b’_ﬂ\,‘.ﬂm’é;".;‘s)),),

oS =3 2060 ot 5n=1,2,..,10 51,1, y=F(X)=X"e™™ jls 1 eal o= 0 (Jia




>> g(0)

anz =

0
>> g(3)
ans =

g
>> gl2)
ans =

4

’.:.:JJJ,:)CJ),JQG 0 d..ali;ay=g(X) )")‘;P"J\-;‘Jf
Command Window
»» x=0:0,0001:8;
>» y=g(x):
>> plot(x,y)
>>
L
w} /1
L )
w ,/ 1
Ul ,/
= A
/
L /
/

” v
x > s
0 = v 3 3

script M-File
‘c\; ASle g dan e el WGl o 1y uc),_'i: J;‘._-ﬁl, 3l e samma J)JTC? Sy M-File tj o
:Jhdlﬁ|ﬁu,);~'é6:),),

o5 02060 Al ,5n=1,2,..,10 51, L, y=F(X)=X"€™™ Jis 40 pal 5 o (Jie




B Fditor - F: Wi gram Files\A THLABVI 20000 work\Mohasaha lSARFARAZ \e rap v

File Edit Text Go Cel Tool Dsbug Desklop Windowy Help

NEM ERBI20 9D -Nesf R-E0RBE!
BB -l e+ x| HH| O

Fii=

clear
2 = clc
3= x=0:0.001:20;
4~ |lfor nei:10

§ = F=X."n. *exp |-n*x};
6 — plot({x, v

7 - hold on

8- and

=5 o3 8raph.miy i, M-File

>» graph




Soae Dbl

Balol 03 5 Cadl P93 4 s pé DVl o>
TF amio Jla
¥} +x2=3x—3=0x€(12)
N eliM-File
[c,err,yc]=bisect(f,a,b,delta)
,r.;a,,.cpf.f(c),-.,..’.,_,J\;,t,;cx;,'.uu:yc..;;dsu,uuxs¢u err uban, €

oles! L olas delta ol it daii b vl ot el @ 4 w5y inline o 0

Command Window
>» E=inline (' X*I4xX"2-I™%-3','x%"):
»>» [c,erz,vc)l=hizectif,1,2,0.00001)

X =

17

1.732051849365234

8rY =

7.629394531250000e-006

7= =

9.859673310685235¢-006

el 3§ g 1SS Jas LWV S 30 e sdalia
\'.Jl..‘M-File

r = bisect2(fun,[a,b],xtol, ftol,verbose)
E‘L.;;\M‘buj‘.:H‘l.L'.ﬂ“'au));&:J‘,M'FileQJ,&QJFJ;,G\: f t,l:«.;‘,ll'

das e 0L, 1SS LY L, verbose S sl L6 st XT0la L




B Editor

NER AR LU Aenh B -ARR

- F:\WProgrom Files\MA TLABWR 20080 Wk \Waohasahol SARFARAZ AL
Fle Edt Text Go Cell Tools Debug Deskhop Window Hel

BB -0 [+ +l11 |x [XE|O
1 _funzoion pef(x)

e FEX . A4N.TL=3TR-3;

q = end

4

*>» r = bisecti ('t',[1,2],0.00001,0.00001,1)

Bisecrion iLEraclions for T.m

| I

1 1.5000=+000
2 1.75002+000
3 1.6250=+000
9 1.687524+000
S 1.7166=+0300
& 1.7344e+000
7 1.726624000
g 1.7305=+000
8 1.7324e+000
10 1.73142+000
11 1.7319e+000
12 1.7322e+000
13 1.7321=4000
14 1.7320e+000
15 1.7320e+000
16 1.7320=4000
17 1.7320=2+000
1.732040034667969

T
=-1.8750e+000
1.7160e~-001
-9.4336e-001
-4.0894zZe-001
~1.2479e~-001
Z2.2030e-002
-5.1755e-002
=-1.455%e~-002
3.5127e-003
-5.7282e-003
-1.109Ze-003
1.2013e-003
4.596z2e-005
-5.3166e~004
-Z.4206e~-004
-9,8148e-005
~2.6243e-005

»» r = bisect2{'<',[1,2],0.00001,0.00001,0}

T

1.732048034657969




O3 - il Jis mas @ g OVolke ol 1>
sl aya) Y o= M-File

X = GEshow(A,b,ptol)
oolai! L6 gl PTOL (i AX=D il ;38 Jla s jUD A (i 5,0 X

2 7 1o]x=

>> A=[1 3 4;2 7 18:;7 1 3]:
>> b=[{2:1:5):
>> x = GEshow(i,b,50%eps=)

(Vo) amio Jo

Begin forward elmination with Augmented system:

1 3 4 2
2 7 18
g/ 1 3

After elimination in column 1 with pivot = 1.000000

1 3 4 2
0 1 10 -3
0 ~-20 =25 =9

After elimination in column 2 with pivot = 1.000000

1 3 4 2
0 1 10 -3
0 0 175 -69
x.
0.748571428571428
0.942857142857143
-0.394265714285714

»>> formmat rat
>> X%

131/1758
33/35
-€9/17%




58T m dst 131585, sla e 5510k U Yoz M-File

x = GEPivShow(A,b,ptol)

oli! 6 sles POl caza AX=b o)y 138 gl jUDsA Ol s, X

06 38 7 7
26 31 5 ]x - F6]
3.7 58 29 3.4
>> A=[.6 3.8 7;2.6 3.1 5:3.7 5.8 2.9);

>> b=[5.7:2.6:3.4);
>> x = GEPiv3how(d,b,50%eps)

Begin forwvard elmination with Augmented 3yacem:
0.600000000000000 3.800000000000000 7.000C00000000000
2. 600000000000000 3.100000000000000 5.000000000000000
3.700000000000000 5.800000000000000 2.900000000000000

Swap rowvs 1 and 3; new pivot = 3.7

After elimination in column 1 with pivot = 3,700000
3 .,700000000000000 $.800000000000000 2.900000000000000
0D =~0.975675675675676 2.962162162162162
0 2.859459459459460 6.529729729729730

Svap rows 2 and 3; nev pivot = 2,85945

After elimination in column 2 with pivot = Z,859459
3.700000000000000 $.800000000000000 2.900000000000000
o 2.85945945945%9460 6.529729729729730
1] 1] 5.190170132325141

-0.843695367132867
0.934877622377622
0.379097465034965

Vo amies Jle

5.700000000000000
2, 600000000000000
3.400000000000000

3 .400000000000000
0.210810810810811
5.148648648648649

3.400000000000000
5.148648648648649
1.967580340264650

(r;—— L))

,,,;\I’.;.QU;,IJIM-F]..].Q N Ao »»

06 38 7 5.7
26 31 5 |[x=]26
3.7 58 29 4

(V¥ amie Jta




>> A=[.6 3.8 7:2.6 3.1 5:3.7 5.8 2.9):
>> b=[5.7:2.6:3.4]:

>> x=A\b
x.
-0,.843695367132867
0.934877622377623
0.379097465034965
3 -1 2
A=|1 2 3
2 =2 -1

>> A=[3 -1 2:1 2 3:2 -2 -1):

>>

[L Ul=1lu(A)

L-
1.0000 s]
0,3333 1.0000
0.6667 -0.5714
U=
3.0000 -1.0000
0 2.3333
0 0
»> format rat
> L
L =
1
1/3
2/3
> U
U=
3
0
)

0
0

1.0000

2.0000
2.3333
-1.0000

-2/7

/3

UsL @ sujkap pa)e Jda> OVl ollvd >

é._,-.;\i:.-ha)buu,,a}JJ,PaJ'!u;,JJIJ;(J‘.lJ”

=]

/3

(V00 amiws Jte




(Ve# wmis Jle

3.7 58 29 3.4
\2.6 31 5 ]x=[2.6]

06 38 7 5.7

>> A=[3,7 5.8 2.9:2.6 3.1 5:.6 3.8 7):
>> b=[3.4:;2.6:5.7]:

>> [L Ul=lu(i):

>> z=L\b

2 =

3.400000000000000
5.1480648648648649
1.967580340264650

x =
-0.843695367132867
0.934877622377623
0.379097465034965
(r:a X3
X = lufact(A,B)
(Vo F ammins JLa

.7 58 29 34
rZ.6 31 5 ]x = [2.6]
06 38 7 5.7

>> A=[3.7 5.8 2.9:2.6 3.1 5:.6 3.8 7):
>> b=[3.4:2.6:5.7]:
>> X = lufacct(i,b)

X =
-0.843695367132867

0.934877622377622
0.379097465034965




[L,U] = luNopiv(A,ptol)

3 = 2
A=|1 2 3
-2 -1

>> A=[3 -1 2:1 2 3;2 -2 -1):
>> [L,U] = luNopiv(A,SO%eps)

L =
1 0
1/3 1
2/3 -4/7
U=
3 -3
0 /3
0 0

C = Cholesky(A)

i 4
. 3 4
= 6

10

11
1 2
1 3
1 4 10 20

((;- N33

(V00 amios JU

o

/3
-1

Sa> 40 ey 4 e OVolw ol o>
A O e B3 g ey e 4 Sl 5D g L

M-File jlastiat (sl 2,

(Jea

>> A={1111:;12 3 4;13 6 10:1 4 10 20);

>> C = Cholesky(i)

C =

OO0 0 m
O O e
QO = N
W W e




>> C=chol(A)

cC =

000 &x
00O =
(=
W W e

7 % i

>> A=[7 -4 0;-4 12 ~-6:0 -6 14):
>> b=[12:;0:0]:

>> e=chol(A):

>> x=c\ (c'\b)

x-
2.262857142857143

0.960000000000000
0.411428571428571

n
lai| = Z|at;| JA#E]

=1
X=jacobi(A,B,P,delta,max1)

7 & g (gl

>> A=[7 -4 0;-4 12 ~-6;0 -6 14]:
>> b=[12:0:0]:

>> X=jacobi(A,b,[1;1;1),0.00001,500)

X =

2.262848599656562
0.960001910979077
0.411422164028136

Matlab s 30 o g3 ekl (f” 20

(Sdor 25 4 MY domis Sl

S¥ 15 e 4 e Vol ol >
Al bl s il A Sl S5 S e L

N aliM-File

el ad gl ds s WP

(V)Y amis Jla




X=jacobi2(A,B,P,delta,max1)
>> A=[7 -4 0;-49 12 -6:0 -6 14):;

>> b=[12:;0:0]:

>> X=jacobil (A,b,[1:1:1]),0.00001,500)

Marhaleye [1]
2.285714285714286
0.833333333333333
0.428571428571429

Marhaleye [2]
2.190476190476191
0.976190476190476
0.357142857142857

Marhaleye [3]
2.272108843537415
0.908730158730159
0.418367346938775

Marhaleye [4]
2.233560090702948
0.966553287981859
0.389455782312925

.

Marhaleye [22)
2.26284B599656562
0.960001910975077
0.411422164028136

2.262848599656562
0.960001910979077
0.411422164028136

>> X=jacobi2(A,b,[1;1;1],eps,500)

X Y.;L...‘-M-File




Marhaleye [77]
2.262B857142857143
0.960000000000000
0.411428571428571

X =

2.262857142857143
0.960000000000000
0.411428571428571

n
|aﬁ|E!:E:hh1|'i=*/
J=1

X=gseid(A,B,P,delta, max1)

7 -4 0 12 1
-4 12 —6lx=]0]|,xX%=]|1
0o - 14 0 1

>> A=[7 -4 0;~-4 12 -6;0 -6 14]:
>> b=(12;0:0]:
>> X=gseid(A,b,[1;1;1],0.00001,500)

L

2.262865384766905
0.960005838019415
0.411431073436852

X=gseid2(A,B,P,delta,max1)

>> A=[(7 -4 0;-4 12 -6;0 -6 14);

>> b=[12:;0:0]:

>> X=gseid2 (A,b,[1;1:1],0.00001,500)

Joh - el Sy 4 e OVl ol >
Al Ml A Sl S S e g L

A a)l..‘. M"‘File

el 4l it s 5L P

(V1Y amies Jlte

?Y.)l..‘. M'File




Marhaleye [1]

2.285714285714286
1.261904761904762
0.540816326530612

Narhaleye [2]

2.435374149659864
1.082199546485261
0.463799805636540

Narhalege [12)

2.26287750522243%6
0.960014423342083
0.411434752860893

Narhaleye [13)]

2.262865384766905
0.960005838019415
0.411431073436892

X =

2.262865384766905
0.860005838019415
0.411431073436892




>> ¥ = newtonsSys('sy=Z',[1:2;3],0,0000001,0.0000001,500,1)

Newnton iterations

k

b W N =

norm ()
2.483e+000
S.563e-002
3.742e-003
6.15C6e~005
1.141e-006

>> A=[1 2;2 4]:
>> [V,D)=eig(i)

v =

-0.894427190999916
0.447213595499958

norm{dx)
3.363e-001
65.072e-002
$.670e-003
1.336e-004
2.404e-006

1.10010452360045%
2.20033307723282¢8
3.258%15531163945

€ig jeawd byl oy Saylop 3ohg »ilac dwlne
(VPP wmis Jite

0.447213595499958
0.894427190599916

R L) sh)\:ﬁv Sl e




| D=A: '

S1P P e skoRy SIS 9039 polae dubxe
[lambda,v] = powerit(A,s,nit,x0,verbose)
Al NIt 10y 29,508 ShATE 2l S cay 4150V ey Juie o £, 1ambda

4:’,|v.-.l>‘x0«)|)§;

(VFY aminn Jlu

2 3 2 1
A=[10 3 4|.z2® =1
3 6 1 1

>> A=[2 3 2;10 3 4;3: 6 1);
>> [lambda,v] = powerit(i,0,10,(1:1;1),1)

-

norm(u, int)
17.000000
9.470588
11.583851
10.831635
11.049800
10.985906
11.003953
10,998903
11.,000303
10.999917

W D~ onn b Wn e

-
o

lambda =

10.999916852432536

0.500000822104932
1.000000000000000
0.750003642445965



C=lagran(X,Y)

PV Sslderais daws 4 JLO3S

dlﬁj}'}‘ld.?.\;? b'.ill.'.l.ujbj.{)) J“‘J‘f c

=S o 111, POlyval (C, X0) ns Xo daii 53 glabasm i 5l dis alous 51

X f(x)
32 22
2.7 17.8

1 14.2
4.8 38.3

Xo=3.0

>> x=[3.2 2.7 1 4.8]);
>> y=[22 17.8 14.2 38.3]:
>> C=lagran(x,y)

C =

-0.5275

6.4952

>> polyval(C,3)

ana =

20.2120

-16.1177

(WY amio Jia

H el e slales

P(x) = —=0.5275x> + 6.4952x% — 16.1177x + 24.3499 & P(x, = 3) = 20.2120



X f(x)
0.00 0
0.20 0.03
0.40 0.423
0.60 0.684
0.80 1.03
1.00 1.557
1.20 2.572

D = divDiffTable(x,y)
P'-SJ.,)L’lJO Q),JJ‘&)J,\ 64‘3sz“"~5’th“;lnuuﬁs'ﬂlJl&‘)i

>> x=[0 .2 .4 .6 .8 1 1.2]):;

>> y=[0 .203 .423 0.684 1.03 1.557 2.572]:

>> D = divDiffTable(x,y)
motesaviol fasele? Dor 1 1

D =

o
0.2030
0.4230
0.6840
1.0300
1.5570
2.5720

o
0.2030
0.2200
0.2610
0,.3460
0.5270
1.0150

0

0
0.0170
0.0410
0.0850
0.1810
0.4880

0
]
0
0.0240
0.0440
0.0960
0.3070

Sgace Jolii gy 4 QLIS

0O00O0

0.0z200
0.0520
0.2110

oOo0oo0oo0o

0.0320
0.1590

(VAF aomis Jita

oOoooooo

0.1270

o5 o s WMt Sl ke o 0313 i 3 F(X) alona 510 S5



Sl4E393 H9y 4 Sdne (& 1SS
I = trapezoid(fun,a,b,npanel)
b b staws  npannel (i Kl syue-bya 2 a5y inline .:;,,.M{JJbigl.;...:cu, fun

(X ) gne ilanais slias)

(YAY amio Jlo

1
l=f e*dx n=4
0

»> f=inline('expix}','x']):
>> I = crapezoid(z,0,1.4)

I =

1.7272

>> format long
>> I

1.7182010208546544

(38 ogmgts) Ggmsm 3 (593 4 (S3UE (8 8" J1 51
I = simpson(fun,a,b,npanel)

(YAY amis Jita
1
!=f e*dx n=4
0

>> £=inline('exp(x) ', 'x'):
>> 1 = simpson(L,0,1,4)

I =

1.718284154693897



